Theorem

 Let F: Vn(R)      Vm(R) and G: Vn(R)      Vm(R) be linear transformations, and define a new mapping F+G as follows:

(i)  F+G :  Vn(R)      Vm(R) is a linear transformation 

(ii) If matrices A and B represent F and G respective (w.r.t. the standard basis) then the matrix A + B represents F + G (w.r.t. the standard basis)
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Consider the relationship between the matrices A and B, explore the relationship between A and B and matrices representing other linear transformations derived from F and G. Explore 2 examples for example  (F+(G for various ( and (, or the composite function F(G/
Check that they are linear transformations then find the matrices representing them and see how they relate to A and B (the matrices representing F and G)

After some numerical work, make a general conjecture (analogous to the results stated in the theorem)
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